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Radiation from an Electric Current Source Tutorials

Hello everyl, let us solve some few more numerical problems on relation between wave

numbers.
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So, to start with the first problem states that

3. Show that when all losses are of the magnetic type
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So, let us start solving this.
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So, we are given that



37 Given, 6 =€’ =0
V’ = I A or i 2 =
3 .= S+ jwé - Z = jeaa
= jJed &
w Koo -
A .
1
A
V] = 2 - JK
J« =
S I v
Jw €
“we KnOoLD -
A . .
2'=_JKV( ond /5 - Jk
1
. AN
ey \/1 -2 = S
Jx =
: Vl = A
4 €
. - K'—_‘,K” - w '’ _ J""
wE Wwe We we
com & teen\d

nA4rinsi c {;m e

1
whexe, K —p
otenvadimm, Constand .

W —> imavinsic

(Refer Slide Time: 4:14)



4. Show that for nonmagnetic dielectrics
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The next problem is that
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4. Show that for nonmagnetic dielectrics
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where Q=

So again, we will start solving.

0>>1
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So, we it is given that quality factor is written as
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Now, we will simplify this just open up the braces, we will get
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Then we can write this
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So, let us write it as separating real and imaginary parts, separating the real and imaginary

parts,
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So, this we got this is proved.
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And for k double prime we will take the imaginary part.
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So, this is also proved. Now further resistance and the reactants. So, for that we will start with

the eta.
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So, first and second done, for third and fourth we will start with we know eta is given by
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So, our next class we will also solve some few more problems on wave numbers and then we

will move into electric current source. Thank you.



